Name: Score:

p @entifying Graphg Trolep: o3
Choose the correct graph that best describes the solution for each inequality.
1) —25<4x-9<3 2) 4x-53>3 or %721
a) HH—1+4+—+—+—+++++++> a) +H—+t+e+—+—+—+++++++>
7 5 3 1 1 3 5 8 -4 0 4 8 12 16
by <+—++++-+++++4+++> by <+++o—+—+—+—++++—+1>
-7 -5 -3 -1 1 3 5 -8 -4 0 4 8 12 16
0 o i 4t++++++i=1>
7 5 3 1 1 3 5 8 -4 0 4 8 12 16
d)
7 -5 3
3X
) 45 : " PREVIEW
a) €+t
-21-18-15-12 -9 -6
(o) e e e

L
-21-18 -15-12 -9 -6
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-21-18-15-12 -9 -6

d)
-21-18-15-12 -9 -6
5) 35% and Not 3 member?
4! | | | ¢ P'ease SIgn uP to
a) A 2I0 I —1IO T (|) ga’n complete
b) A Access.
20 <100
o I+
20 <100
P www.mathworksheets4kids.com
d) R I I B | ¢
20 <100
7) 2x+7<250r 3x-4>35 8 46+5x>1 or 6x-10=26
a) a) >
3456 7 8 9101112131415 21 5 -9 33 9 15
b) <+t b) «+—+++o+"1++o¢++1+>
34 56 7 8 9101112131415 21 5 -9 33 9 15
o I S s e o <+ttt
3456 7 8 9101112131415 21 15 -9 33 9 15
d <+ttt d €<t+—+++-4+++++ot+-+-+4>
34 56 7 8 9101112131415 21 15 -9 33 9 15
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